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39-1 am not interested in listen to theradio, what about

you?
1) interested 2) listen
3)to 4) about
40- The clouds are among the factors......... cause winds.
1) which 2) where
3) how 4) whom

41-My father asked Betty....... speak about her future
plans.

1) don’t 2) not to do
3) not to 4) doesn’t
42-While climbing the tree, her brother fell and hurt.....
1) himself 2) myself
3) itself 4) yourself

43- When my mother isnot at home, my sister.........
1) looks the children after
2) waits the children for
3) puts on the children
4) looks after the children
44-Theliquid hasonly external........ ,don’t takeit.

1) application 2) apply

3) applicant 4) applied
45-You can’t enter theuniversity unlessyou takepart in
the university .............. examination.

1) fina 2) primary

3) preparatory 4) entrance

46- The peoplewerewaiting eagerly for thefootball match
to begin. “Eagerly” means:

1) commonly 2) badly

3) suddenly 4) pleasantly
47-Thereisn't............. food in the super market.

1) so many 2) too much

3) so much 4) too many

48| tried to......... Ali after hisfather death.
1) com fortable 2) comfort
3) comfortably 4) comforting

49- She............ gone in the morning, but she went in the
evening.

1) could have 2) could

3) must have 4) must
50- | found Mina............ anovel.

1) read 2) to read

3) reading 4) reads
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